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INSTRUKCE 

 
Test obsahuje 25 otázek s alternativami odpovědí (A), (B), (C), (D), z nichž je jediná správná. Svou 
odpověď zapište odpovídajícím písmenem do příslušného rámečku vpravo. Chcete-li odpověď 
změnit, požádejte člena komise o parafování změny. Správná odpověď se hodnotí jedním bodem, 
žádná nebo nesprávná odpověď žádným bodem, tj. maximální počet dosažitelných bodů je 25. Na 
provedení testu máte 20 minut. Při testu nelze používat žádné pomůcky ani elektronická média. Lze 
používat pouze psací potřeby.  
 
Choose the best option. 
 
 
1. Which two words sound the same?  B 
 (A) wrote, route (B) root, route (C) root, rude (D) rude, route  
 
2. If ........... phones, tell them I’m in the bath.  A 
 (A) anyone (B) some one (C) every (D) no one  
 
3. Is there any tax ........ books in this country?  C 
 (A) for (B) at  (C) on  (D) to  
 
4. Samuel ......... to the shops. He’ll be back soon.  D 
 (A) ’s been (B) was going (C) had gone (D) ’s gone  
 
5. We have to answer all the questions, .................?  B 
 (A) have we (B) don’t we (C) haven’t we (D) do we  
 
6. I didn’t like the way the company was run so I ............. .  D 
 (A) terminated (B) dismissed (C) suspended (D) gave in my notice  
 
7. The boys heard the door ....... and saw a white shadow.  C 
 (A) opened (B) to open (C) open (D) openning  
 

VYPLNÍ  UCHAZE Č: 
Kódové číslo  

         
          

Datum narození 
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8. How many customers ....... the product daily?  B 
 (A) do buy (B) buy (C) do they buy (D) buys  
 
9. The new car uses less fuel so it is much more ........... than the old one.  D 
 (A) economy (B) economist (C) economic (D) economical  
 
10. Can I use your fax? - ................. .   
 (A) Not at all. (C) Yes, I can borrow it to you.  B 
 (B) Yes, go ahead. (D) Please.  
 
11. Wear the sunglasses; that always looks .................. .  A 
 (A) fashionable (B) fashionably (C) fashion (D) nicely  
 
12. Deborah was nervous because she ..................... before.   
 (A) has never flown (C) had never flown  C 
 (B) flew never (D) never had flew  
 
13. Not enough ............... for the homeless.   
 (A) is been done (C) is doing  D 
 (B) were been done (D) is being done  
 
14. The runner has no ...............of winning.  B 
 (A) occasion (B) chance (C) luck (D) opportunity  
 
15. Sheila hates ............... when she’s working.   
 (A) be disturbed (C) being disturbed  C 
 (B) been disturbed (D) to be disturbing  
 
16. The features of a product or service which make it different from its competitors  B 
 are its.................. .  
 (A) CEOs (B) USPs (C) JITs (D) FAOs   
 
17.  He wore glasses and a false beard so that nobody ........... recognize him.  A 
 (A) would (B) can (C) may (D) couldn’t  
 
18. Could you tell me how much ............. ?  D 
 (A) did this cost (B) costs this (C) does this cost (D) this costs  
 
19. She phoned the bank .......... how much money there was in her account.  B 
 (A) to control (B) to check (C) to inspect (D) to test  
 
20. If you .......... the lottery, would you tell me?  A 
 (A) won (B) would win (C) win (D) ’ll win   
 
21. Peter .................. this. This isn’t his handwriting.  C 
 (A) can’t write (B) can’t  have wrote (C) can’t have written (D) can’t written  
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22. I don’t know if our uncle ............... us next week.   D 
 (A) is going visit (B) visits (C) would visit (D) will visit  
 
23. We moved house because we couldn’t .................from the motorway.   
 (A) put up the noise with (C) put the noise up with  B 
 (B) put up with the noise (D) put with the noise up  
 
24. What time does the bus ....... Millbrook?  D 
 (A) go away to (B) leave to     (C) go away for (D) leave for  
 
25. Which of these is wrong?   
 (A) He blew the trouble up. (C) The house blew up.  A 
 (B) A storm blew up. (D) He blew up the tyre.  
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INSTRUKCE 

 
Test obsahuje 25 otázek s alternativami odpovědí (A), (B), (C), (D), z nichž je jediná správná. Svou 
odpověď zapište odpovídajícím písmenem do příslušného rámečku vpravo. Chcete-li odpověď 
změnit, požádejte člena komise o parafování změny. Správná odpověď se hodnotí jedním bodem, 
žádná nebo nesprávná odpověď žádným bodem, tj. maximální počet dosažitelných bodů je 25. Na 
provedení testu máte 20 minut. Při testu nelze používat žádné pomůcky ani elektronická média. Lze 
používat pouze psací potřeby.  
 
Choose the best option. 
 
 
1. Which two words sound the same?  C 
 (A) noun, none (B) none, known (C) none, nun (D) known, noun  
 
2. I wasn’t well yesterday. I spent ........... day in bed.  B 
 (A) the most  (B) most of  the (C) most of  (D) all of   
 
3. Simon and his wife left .......... Istanbul yesterday evening.  D 
 (A) from (B) out of (C) in (D) for  
 
4. Ever since I was a child I ........... to go to Zanzibar.  A 
 (A) ’ve wanted (B) had wanted (C) want (D) wanted  
 
5. I needn’t sign it, .................?  B 
 (A) needn’t I (B) need I (C) do I (D) must I  
 
6. The company hopes to ......... next year and make a profit the following year.  A 
 (A) break even (B) break over (C) turn over (D) turn even  
 
7. It’s getting late. We’d better ............... .  C 
 (A) to hurry (B) hurrying (C) hurry (D) hurried  
 

VYPLNÍ  UCHAZE Č: 
Kódové číslo  

         
          

Datum narození 
        

 



Varianta:                 2312 TEST Z ANGLICKÉHO JAZYKA                     3 strany – 2. strana 
 
 
8. Your family has three cars. Which car .......... the fastest?  B 
 (A) does go (B) goes (C) does it go (D) go  
 
9. The money that people or companies spend is called ............ .  D 
 (A) income (B) budget (C) cash flow (D) expenditure  
 
10. Do you want me to give you a lift? -  .................... .    
 (A) Yes, of course. (C) Could you? It’s very kind of you.  C 
 (B) OK, please. (D) Not too bad, thanks.  
 
11.  This French dish tastes ................. .  A 
 (A) delicious (B) deliciously (C) well (D) curiously  
 
12. By the time we arrived, the plane ............... .   
 (A) had taken off (C) had took off  A 
 (B) has taken off (D) took off  
 
13. I can’t use my car this week. It .................. .   
 (A) is repairing (C) has being repaired  D 
 (B) is been repaired (D) ’s being repaired  
 
14. A large shop is divided into ................ .  B 
 (A) units (B) departments (C) compartments (D) categories  
 
15. Joe doesn’t mind ............. when he makes a mistake.   
 (A) to be corrected (C) being corrected  C 
 (B) been corrected (D) be corrected  
 
16. The shop ........... extra staff to cover for busy periods.  B 
 (A) takes in (B) takes on (C) takes over (D) takes off  
 
17. I turned down the music so that I .............. disturb the neighbours.  A 
 (A) wouldn’t (B) can’t (C) might (D) would  
 
18. Can you show me how ............ it?  C 
 (A) do you do (B) are you doing (C) you do (D) does  
 
19. Mr. Royce .............the bank manager that he would be able to repay the loan.  D 
 (A) ensured (B) insured (C) certified (D) assured  
 
20. I’d babysit for you if I ............ a meeting.  B 
 (A) don’t have (B) didn’t have (C) haven’t got (D) wouldn’t have  
 
21. What beautiful shoes! They ................. you a lot of money.  C 
 (A) must cost (B) have to cost (C) must have cost (D) must had cost  
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22. I don’t know if the nice weather ....... next week.  B 
 (A) lasts (B) will last (C) would last (D) is going last  
 
23. The baby is asleep. Don’t ............. .     A 
 (A) wake her up (B) wake up her (C) wake up it (D) baby wake up  
 
24. Everyone blamed me .......... the accident.  D 
 (A) on (B) from (C) of (D) for  
 
25. Which of these cannot shoot?  B 
 (A) pains (B) elephants (C) footballers (D) soldiers  
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INSTRUKCE 

 
Test obsahuje 25 otázek s alternativami odpovědí (A), (B), (C), (D), z nichž je jediná správná. Svou 
odpověď zapište odpovídajícím písmenem do příslušného rámečku vpravo. Chcete-li odpověď 
změnit, požádejte člena komise o parafování změny. Správná odpověď se hodnotí jedním bodem, 
žádná nebo nesprávná odpověď žádným bodem, tj. maximální počet dosažitelných bodů je 25. Na 
provedení testu máte 20 minut. Při testu nelze používat žádné pomůcky ani elektronická média. Lze 
používat pouze psací potřeby.  
 
Choose the best option. 
 
 
1. Which two words sound the same?  A 
 (A) cruise, crews (B) crews, crows (C) cruise, cries (D) crease, cries  
 
2. I watched most of the film but not ............. .  C 
 (A) all it (B) some of it  (C) all of it (D) none of it  
 
3. As I had missed the history lesson, my friend went ...................... the homework    D 
 with me.  
 (A) by (B) after (C) on (D) over   
 
4. Tobias .......... his homework at last.  B 
 (A) finish (B) ’s finished (C) finished (D) had finished  
 
5. Nothing’s wrong, ................?  C 
 (A) isn’t it (B) is that (C) is it (D) wasn’t it  
 
6. The value of shares started to ............. and continued rising until March 2000.  B 
 (A) plummet (B) soar (C) drop (D) decline  
 
7. My wife made me ............all the washing up.  D 
 (A) doing (B) to do (C) done (D) do  
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8. What quantity of poison ............ death?  A 
 (A) causes (B) does cause (C) cause (D) does it cause  
 
9. What is your favourite ............ of coffee?  C 
 (A) mark (B) line (C) brand (D) copyright  
 
10. How are you doing? - .................. .   
 (A) I’m painting the garage door. (C) Yes, of course.  D 
 (B) I’m afraid not. (D) Fine, thanks. I’ve nearly finished.  
 
11. Paul didn’t look ........... in those tight trousers.  A 
 (A) comfortable (B) comfortably (C) fashionably (D) careful  
 
12. Martha ............. a camel before and she was very terrified.   
 (A) hasn’t ridden (C) hadn’t ridden  C 
 (B) didn’t ride (D) hasn’t been ridden  
 
13. I’m sorry it’s so noisy. Our new kitchen ..................... .   
 (A) is been fitted (C) is being fitting  D 
 (B) is fitting (D) is being fitted  
 
14. He didn’t take the flat because he couldn’t afford the ........... .  B 
 (A) fare (B) rent (C) hire (D) salary  
 
15.  Sandra misses ............. to their meetings and discussions.  B 
 (A) inviting (B) being invited (C) be invited (D) to be inviting  
 
16. Production department is ............ for the manufacturing of products and trying to find   A 
 ways of improving quality.  
 (A) responsible (B) reliable (C) challenging (D) respecting   
 
17. Priscilla locked the door so that she .......... be disturbed.  D 
 (A) would (B) can’t (C) might (D) wouldn’t  
 
18. Do you remember exactly what  ............... you?  C 
 (A) did he tell (B) does he tell (C) he told (D) told he  
 
19. You can only ......... this postal order at a post office.  B 
 (A) pay (B) cash (C) alter (D) exchange  
 
20. Life ......... easy if I had some money.  D 
 (A) ’ll be (B) were (C) has been (D) ’d be   
 
21. We ...................... . We had plenty of time.   
 (A) needn’t have hurried  (C) didn’t have hurried  A 
 (B) mustn’t hurry (D) needn’t to hurry  
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22. I don’t know if our company ......... a record profit next year.  D 
 (A) makes (B) would make (C) is making (D) will make  
 
23. We can’t ...................... any longer.   
 (A) put this situation up with (C) put up this situation with  B 
 (B) put up with this situation (D) put with this situation up  
 
24. They travel for fun or .............. necessity.  C 
 (A) since (B) for (C) from (D) on  
 
25. Which of these can you not apply for?  D 
 (A) a job (B) a position (C) a post  (D) a career ladder  
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INSTRUKCE 

 
Test obsahuje 25 otázek s alternativami odpovědí (A), (B), (C), (D), z nichž je jediná správná. Svou 
odpověď zapište odpovídajícím písmenem do příslušného rámečku vpravo. Chcete-li odpověď 
změnit, požádejte člena komise o parafování změny. Správná odpověď se hodnotí jedním bodem, 
žádná nebo nesprávná odpověď žádným bodem, tj. maximální počet dosažitelných bodů je 25. Na 
provedení testu máte 20 minut. Při testu nelze používat žádné pomůcky ani elektronická média. Lze 
používat pouze psací potřeby.  
 
 
Choose the best option. 
 
1. Which two words sound the same?  C 
 (A) rode, wrote (B) wrote, roared (C) road, rode (D) road, roared  
 
2. Jonathan is a good student. I wish ....... was as active as he was.  D 
 (A) every (B) each (C) all students (D) everybody  
 
3. This product must be eaten .................... two days of purchase.  B 
 (A) by (B) within (C) before (D) under  
 
4. Look, you ............ a mistake in this sentence. Could you correct it?  A 
 (A) ’ve made (B) are making (C) made (D) had made  
 
5. You’d do it if you could, ................?  B 
 (A) couldn’t you (B) wouldn’t you (C) would you  (D) hadn’t you  
 
6. They didn’t sell a single piece of furniture for two months and had ........... workers.  A 
 (A) to lay off (B) to lay of (C) to lay down (D) to lay out  
 
7. Would you like a cup of tea? – I’d rather .......... coffee.  C 
 (A) to have (B) having (C) have (D) had  
 

VYPLNÍ  UCHAZE Č: 
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8. What ........... that terrible noise? – It was the cat.  D 
 (A) make (B) did make (C) is making (D) made  
 
9. When we begin a formal letter with “Dear Sir or Madam”, we end it with ............ .  C 
 (A) Yours kindly (B) Yours sincerely (C) Yours faithfully (D) Yours regards  
 
10. Excuse me. Can I use your phone? - ........................ .   
 (A) Please. (C) I’m sorry, I can’t borrow it.   B 
 (B) Of course, go ahead. (D) Not at all.  
 
11. Jerry’s voice sounded .......... on the phone.  A 
 (A) strange (B) strangely (C) stranger (D) curiously  
 
12. They didn’t come. They ............ something else.   
 (A) have arranged (C) had arranged  C 
 (B) were arranged (D) arranged  
 
13. I .......... a lot of money by Daniel.   
 (A) ’m owed  (C) am owing  A 
 (B) owe (D) am being owed  
 
14. The end of a bus route is called the bus .............. .  D 
 (A) destination (B) stop (C) conclusion (D) terminus  
 
15. I don’t like .......... what I should and shouldn’t do.  C 
 (A) be told (B) been told (C) being told (D) to be telling  
 
16. I gained hands-on ........... in dealing with customer complaints while working in the  A 
 Customer Service Department.  
 (A) experience (B) practice (C) experiences (D) awareness   
 
17. He switched on the light so that he ............. see what he was doing.  B 
 (A) wouldn’t (B) could (C) might (D) couldn’t  
 
18.  Can you tell me how............. that?  D 
 (A) do you know (B) know you (C) did you (D) you know   
 
19. Income tax is ............ to one’s annual income.  C 
 (A) assotiated (B) based (C) related (D) dependent  
 
20. If I had a lot of money, I ........... round the world.  B 
 (A) ’ll travel (B) ’d travel (C) travelled (D) ’d travelled  
 
21. Pete ........ out. The door’s locked.  C 
 (A) must gone (B) must went (C) must have gone (D) have to go  
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22.  I wonder if Sue ............. the exam tomorrow.   D 
 (A) ’d  passed (B) is going pass (C) passes (D) will pass  
 
23. Could you ................. in the telephone directory?   
 (A) look  the number up (C) look it the number up  A 
 (B) look up it (D) look it up the number  
 
24. Are you very upset ......... losing your job?  B 
 (A) from (B) about (C) for (D) in  
 
25. Which word would you not use to describe a jewel?  C 
 (A) precious (B) costly  (C) dear  (D) expensive  
 
 
 
 
 
 
 
 
 
 
 
 
 


